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Determine where the graph is positive vs. negative
(reflected).

Substitute values into the argument to see if the
outcome is positive or negative.

«—} > Sign Chart
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For the positive side, drop absolute value and simplify.
For the negative side, switch the signs of the argument
& simplify.

Negative Positive

The simplified negative equation is for x < 1 while
the positive equation is for x > 1 according to the
sign chart.

fo =1
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Write f(x) =-|3x+ 9| + 5 as a piecewise function.
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Write f(x) = |[x — 1| + 2 as a piecewise function.
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Determine where the graph is positive vs. negative
(reflected).

Substitute values into the argument to see if the
outcome is positive or negative.

«—} > Sign Chart
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For the positive side, drop absolute value and simplify.
For the negative side, switch the signs of the argument &
simplify.

Negative Positive

f =1
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Write f(x) = 5|3 — x| as a piecewise function.
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Determine where the graph is positive vs. negative
(reflected).

«—} > Sign Chart
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For the positive side, drop absolute value and simplify.
For the negative side, switch the signs of the argument &
simplify.

Negative Positive

fe =1




image135.png




image136.png




image137.png




image138.png
_21-5\&2)
24453, X% 2

|




image13.png




image139.png
“3 Ly L3




image140.png
7y tox-3




image141.png




image142.png




image143.png




image144.png




image145.png




image146.png




image147.png




image148.png




image14.png




image149.png




image150.png




image151.png




image152.png




image153.png




image154.png




image155.png
v

N|—




image156.png
PoSIh




image157.png




image158.png




image15.png




image159.png




image160.png
Negahve
Ao




image161.png
e(o)

2

>
S(y




image162.png




image163.png




image164.png




image165.png
T osrhve




image166.png




image167.png
2(1%) <20~ 3




image168.png
2 (-2} +5(-)




image16.png




image169.png




image170.png




image171.png




image172.png




image173.png
74 +6y-2=0




image174.png




image175.png




image176.png
Write f(x) = |2x% + 5x — 3| as a piecewise function.

First find the split(s). They occur when the
argument equals zero.




image177.png
Determine where the graph is positive vs. negative
(reflected).

Check the intervals:
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Simplify.

fx)=

Alternatively, f(x) can be written:

o]
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L= 1x-11+2
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Writing Absolute Value as Piecewise

Piecewise: A graph split into multiple sections or
written as multiple parts.

x,x<0

flx) = {—x,x =0
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